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QUESTION 1

Keyboards and mice are members of which class of USB devices? 

A. Communication Device Class 

B. Human Interface Device Class 

C. Mass Storage Device Class 

D. Data Interface Device Class 

Correct Answer: B 

 

 

QUESTION 2

To prevent users from being able to fill up the / partition, the _______ directory should be on a separate partition if
possible because it is world writeable. 

A. tmp 

Correct Answer: A 

 

 

QUESTION 3

Which command displays the contents of the Kernel Ring Buffer on the command line? (Provide only the command
name without any options or path information) Answer: 

A. dmesg 

B. /bin/dmesg 

Correct Answer: AB 

 

 

QUESTION 4

You want to the command foo to take its input from the file foobar and send its output to the program bar. 

Which of the following command lines will do this? 

A. foo 

B. foo  bar 
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C. foo | foobar > bar 

D. foo | bar 

E. foo > bar 

Correct Answer: A 

 

 

QUESTION 5

What TWO permissions must a user have in order to run a shell script? 

A. read 

B. write 

C. execute 

D. browse on the directory 

E. users cannot run shell scripts 

Correct Answer: AC 
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